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Part A

Answer all questions in this part.

[30]

Directions (1-30): For each statement or question, write on your separate answer sheet the number of the
word or expression that best completes the statement or answers the question.

1

2

3

4

The levels of organization for structure and
function in the human body from least complex
to most complex are

(1) systems — organs — tissues — cells
cells — organs — tissues — systems
tissues — systems — cells — organs

cells — tissues — organs — systems

~—  ~— ~—

(2
(3
(4

Genes are inherited, but their expressions can be
modified by the environment. This statement
explains why

(1) some animals have dark fur only when the
temperature is within a certain range
offspring produced by means of sexual
reproduction look exactly like their parents
identical twins who grow up in different
homes have the same characteristics
animals can be cloned, but plants cannot

Meat tenderizer contains an enzyme that inter-
acts with meat. If meat is coated with tenderizer
and then placed in a refrigerator for a short time,
how would the enzyme be affected?

(1) It would be broken down.

(2) Its activity would slow down.

(3) Its shape would change.

(4) It would no longer act as an enzyme.

Which row in the chart below contains correct
information concerning synthesis?

(1) | glucose molecules DNA
(2) | simple sugars protein
(3) | amino acids enzyme
(4) | molecular bases starch

Living

Environment-Aug. *06

5

Molecule X moves across a cell membrane by
diffusion. Which row in the chart below best
indicates the relationship between the relative
concentrations of molecule X and the use of ATP
for diffusion?

Row Movement of Molecule X dee_;f
(1) |high concentration — low concentration| used
(2) |high concentration — low concentration |not used
(3) |low concentration — high concentration| used
(4) |low concentration — high concentration |not used
6 Which statement best compares a multicellular

7

organism to a single-celled organism?

(1) A multicellular organism has organ systems
that interact to carry out life functions, while
a single-celled organism carries out life func-
tions without using organ systems.

A single-celled organism carries out fewer
life functions than each cell of a multicellu-
lar organism.

A multicellular organism always obtains
energy through a process that is different
from that used by a single-celled organism.
The cell of a single-celled organism is always
much larger than an individual cell of a multi-
cellular organism.

(2)

Which statement indicates that different parts of
the genetic information are used in different
kinds of cells, even in the same organism?

(1) The cells produced by a zygote usually have
different genes.

(2) As an embryo develops, various tissues and
organs are produced.

(3) Replicated chromosomes separate during
gamete formation.

(4) Offspring have a combination of genes from
both parents.



8 Three structures are represented in the diagram
below.

Protein DNA

What is the relationship between these three
structures?

(1) DNA is made up of proteins that are synthe-
sized in the cell.

(2) Protein is composed of DNA that is stored in
the cell.

(3) DNA controls the production of protein in
the cell.

(4) The cell is composed only of DNA and protein.

9 In a group of mushrooms exposed to a poisonous
chemical, only a few of the mushrooms survived.
The best explanation for the resistance of the
surviving mushrooms is that the resistance

(1) was transmitted to the mushrooms from the
poisonous chemical

(2) resulted from the presence of mutations in
the mushrooms

(3) was transferred through the food web to the
mushrooms

(4) developed in response to the poisonous
chemical

10 Which statement correctly describes the genetic
makeup of the sperm cells produced by a human
male?

(1) Each cell has pairs of chromosomes and the
cells are usually genetically identical.

(2) Each cell has pairs of chromosomes and the
cells are usually genetically different.

(3) Each cell has half the normal number of
chromosomes and the cells are usually
genetically identical.

(4) Each cell has half the normal number of
chromosomes and the cells are usually
genetically different.
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11 In an environment that undergoes frequent
change, species that reproduce sexually may
have an advantage over species that reproduce
asexually because the sexually reproducing
species produce

(1) more offspring in each generation

(2) identical offspring

(3) offspring with more variety

(4) new species of offspring in each generation

12 Mutations that occur in skin or lung cells have
little effect on the evolution of a species because
mutations in these cells

(1) usually lead to the death of the organism

(2) cannot be passed on to offspring

(3) are usually beneficial to the organism

(4) lead to more serious mutations in offspring

13 The teeth of carnivores are pointed and are good
for puncturing and ripping flesh. The teeth of
herbivores are flat and are good for grinding and
chewing. Which statement best explains these
observations?

(1) Herbivores have evolved from carnivores.

(2) Carnivores have evolved from herbivores.

(3) The two types of teeth most likely evolved as
a result of natural selection.

(4) The two types of teeth most likely evolved as
a result of the needs of an organism.

14 What would most likely happen if most of the bac-
teria and fungi were removed from an ecosystem?

(1) Nutrients resulting from decomposition
would be reduced.

(2) Energy provided for autotrophic nutrition
would be reduced.

(3) The rate of mutations in plants would increase.

(4) Soil fertility would increase.

15 A certain bacterial colony originated from the
division of a single bacterial cell. Each cell in this
colony will most likely

(1) express adaptations unlike those of the other
cells

(2) replicate different numbers of genes

(3) have a resistance to different antibiotics

(4) synthesize the same proteins and enzymes

[OVER]



16 Removal of one ovary from a human female
would most likely

(1) affect the production of eggs

make fertilization impossible

make carrying a fetus impossible

decrease her ability to provide essential
nutrients to an embryo

(2)
(3)
(4)

17 Which substance usually passes in the greatest
amount through the placenta from the blood of
the fetus to the blood of the mother?

(1) oxygen
(2) carbon dioxide

(3) amino acids
(4) glucose

18 An enzyme known as rubisco enables plants to
use large amounts of carbon dioxide. This
enzyme is most likely active in the

(3) mitochondria
(4) chloroplasts

(1) nucleus
(2) vacuoles

19 Starch molecules present in a maple tree are
made from materials that originally entered the
tree from the external environment as

(1) enzymes

(2) simple sugars

(3) amino acids

(4) inorganic compounds

20 Which change in a sample of pond water could
indicate that heterotrophic microbes were active?

(1) increase in ozone level

(2) increase in glucose level

(3) decrease in oxygen level

(4) decrease in carbon dioxide level

21 Some human white blood cells help destroy
pathogenic bacteria by

(1) causing mutations in the bacteria

(2) engulfing and digesting the bacteria

(3) producing toxins that compete with bacterial
toxins

(4) inserting part of their DNA into the bacterial
cells
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22 Four students each drew an illustration to show
the flow of energy in a field ecosystem. Which
illustration is most accurate?

Sun ——> Oats —>» Mouse

(1) \ /
Decomposers
Sun ——>» Wheat —— Woodchuck
(2) " /

Decomposers

Sun ——>» Grasses —>» Cow

o NN/

Decomposers

Sun =——>» Crow —>» Cow

N\ /

Decomposers

(4)

23 As succession proceeds from a shrub community
to a forest community, the shrub community
modifies its environment, eventually making it

(1) more favorable for itself and less favorable
for the forest community

(2) more favorable for itself and more favorable
for the forest community

(3) less favorable for itself and more favorable
for the forest community

(4) less favorable for itself and less favorable for
the forest community



24 The diagram below represents a series of events in the development of a bird.

O-0)-B-B-0-C

Zygote
Which series of terms best represents the sequence of processes shown?
(1) meiosis — growth — differentiation (3) mitosis = meiosis — differentiation
(2) meiosis — differentiation — growth (4) mitosis — differentiation — growth

25 Bacteria that are removed from the human intestine are genetically engineered to feed on organic pollu-
tants in the environment and convert them into harmless inorganic compounds. Which row in the table
below best represents the most likely negative and positive effects of this technology on the ecosystem?

Row Negative Effect Positive Effect

(1) | Inorganic compounds interfere with cycles in the environment.[ Human bacteria are added to the environment.

(2) | Engineered bacteria may out-compete native bacteria. The organic pollutants are removed.
(3) | Only some of the pollutants are removed. Bacteria will make more organic pollutants.
(4) | The bacteria will cause diseases in humans. The inorganic compounds are buried in the soil.

26 An energy pyramid is represented below.

B

How much energy would be available to the organisms in level C?

(1) all of the energy in level A, plus the energy in level B

(2) all of the energy in level A, minus the energy in level B

(3) apercentage of the energy contained in level B

(4) a percentage of the energy synthesized in level B and level D

(5] [OVER]
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27 Which graph illustrates changes that indicate a 29 Four environmental factors are listed below.
state of dynamic equilibrium in a mosquito popu-

lation?
capacity in a land ecosystem?

(1) A, only (3) A, C, and D, only

Years Years (2) B, C, and D, only (4) A B, C, and D
(1) )

A. energy
B. water
C. oxygen

D. minerals

Which factors limit environmental carrying

Number of
Mosquitoes
Number of
Mosquitoes

30 Which human activity would have the least
negative impact on the quality of the environ-
ment?

(1) adding animal wastes to rivers

(2) cutting down tropical rain forests for ply-
wood

(3) using species-specific sex attractants to trap

and kill insect pests

Years Years (4) releasing chemicals into the groundwater

(2) (4)

Number of
Mosquitoes
Number of
Mosquitoes

28 Which condition is necessary for enzymes and
hormones to function properly in the human

body?

(1) These chemicals must have a specific shape.
(2) These chemicals must be able to replicate.
(3) Body temperature must be above 40°C.

(4) Body pH must be above 10.
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Part B-1
Answer all questions in this part. [10]

Directions (31-40): For each statement or question, write on the separate answer sheet the number of the
word or expression that best completes the statement or answers the question.

Base your answers to questions 31 through 34 on the diagram below and on your knowledge of biology. The
diagram represents a single-celled organism, such as an ameba, undergoing the changes shown.

Cell contains

1 full set of
single C
/ chromosomes
Cell contains Process 1 Cell contains
1 full set of _ 5 1 full set of Process 2
single double
chromosomes chromosomes \ Cell contains
1 full set of D
single
A B chromosomes

31 As a result of these processes, the single-celled organism accomplishes

(1) gamete production (3) sexual reproduction
(2) energy production (4) asexual reproduction

32 Process 1 is known as

(1) replication (3) differentiation
(2) meiosis (4) digestion

33 Process 1 and process 2 are directly involved in

(1) meiotic cell division (3) fertilization
(2) mitotic cell division (4) recombination

34 The genetic content of C is usually identical to the genetic content of

(1) B but not D (3) D but not A
(2) both B and D (4) both A and D

Living Environment-Aug. 06 [ 7] [OVE R]



Base your answers to questions 35 through 37 on the diagram below that shows some evolutionary pathways.
Each letter represents a different species.

e 0 @ 0 @ Prefent
© (D

Time

B (E)

Q Past

35 Which two organisms are most closely related?

(1) Fand I (3) Aand G
(2) Fand H (4) Gand]

36 The most recent ancestor of organisms D and F is

(1) A (3) C
(2) B 4) 1

37 If A represents a simple multicellular heterotrophic organism, B would most likely represent

(1) asingle-celled photosynthetic organism

(2) an autotrophic mammal

(3) a complex multicellular virus

(4) another type of simple multicellular heterotroph

38 A scientist studied iguanas inhabiting a chain of small ocean islands. He discovered two species that live in
different habitats and display different behaviors. His observations are listed in the table below.

Observations of Two Species of Iguanas

Species A Species B

spends most of its time in the ocean spends most of its time on land

is rarely found more than 10 meters from shore is found many meters inland from shore

eats algae eats cactus and other land plants

Which statement best describes these two species of iguanas?

(1) Both species evolved through the process of ecological succession.
(2) Each species occupies a different niche.

(3) The two species can interbreed.

(4) Species A is a scavenger and species B is a carnivore.

Living Environment-Aug. 06 [8]



Base your answers to questions 39 and 40 on the information and graph below and on your knowledge of
biology.
A population of paramecia (single-celled aquatic organisms) was grown in a 200-mL beaker of water con-
taining some smaller single-celled organisms. Population growth of the organisms for 28 hours is shown in

the graph below.

Population Growth

Key

—— Paramecia
----- Smaller single-celled organisms

Number of Organisms

I | I [ I
12 16 20 24 28 32

o
g
oo —

Time (hours)

39 Which factor most likely accounts for the change in the paramecium population from
8 to 20 hours?

(1) an increase in the nitrogen content of water
) an increase in wastes produced

) an increase in available food

) an increase in water pH

40 One likely explanation for the change in the paramecium population from 26 hours to 28 hours
is that the

(1) carrying capacity of the beaker was exceeded
(2) rate of reproduction increased

(3) time allowed for growth was not sufficient
(4) oxygen level was too high

Living Environment-Aug. 06 [9] [OVER]



Part B-2

Answer all questions in this part. [15]

Directions (41-55): For those questions that are followed by four choices, circle the number of the choice
that best completes the statement or answers the question. For all other questions in this part, follow the direc-
tions given in the questions and record your answers in the spaces provided.

Base your answers to questions 41 through 45 on the passage below and on your knowl-

edge of biology.

Better Rice

The production of new types of food crops will help raise the quan-
tity of food grown by farmers. Research papers released by the
National Academy of Sciences announced the development of two new
superior varieties of rice—one produced by selective breeding and the
other by biotechnology.

One variety of rice, called Nerica (New Rice for Africa), is already
helping farmers in Africa. Nerica combines the hardiness and weed
resistance of rare African rice varieties with the productivity and faster
maturity of common Asian varieties.

Another variety, called Stress-Tolerant Rice, was produced by insert-
ing a pair of bacterial genes into rice plants for the production of
trehalose (a sugar). Trehalose helps plants maintain healthy cell
membranes, proteins, and enzymes during environmental stress. The
resulting plants survive drought, low temperatures, salty soils, and
other stresses better than standard rice varieties.

41 Why is the production of new varieties of food crops necessary?

(1)
(2)
(3)
(4)

42 Which substance from bacteria was most likely inserted into rice plants in the devel-

Essential food crops are rapidly becoming extinct.
Technology for producing fresh water for agriculture has improved.
Burning fossil fuels has decreased agricultural areas.

World population continues to increase.

opment of the trehalose-producing rice?

sugar
enzymes
DNA

trehalose

Living Environment-Aug. *06 [ 10]
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43 Nerica was most likely produced by

(1) crossing a variety of African rice with a variety of Asian rice
(2) cloning genes for hardiness and weed resistance from Asian rice
(3) using Asian rice to compete with rare African varieties

(4) inserting genes for productivity and faster maturity into Asian rice

44 Which strain of rice was produced as a result of genetic engineering? Support your

answer. [1]

45 State one reason that further testing must be done before rice plants that produce

trehalose are approved for human consumption.

[1]

Living Environment-Aug. 06
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43

44

45

Use Only
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Base your answers to questions 46 through 49 on the information and data table below
and on your knowledge of biology.

A number of bean seeds planted at the same time produced plants
that were later divided into two groups, A and B. Each plant in group
A was treated with the same concentration of gibberellic acid (a plant
hormone). The plants in group B were not treated with gibberellic acid.
All other growth conditions were kept constant. The height of each
plant was measured on 5 consecutive days, and the average height of
each group was recorded in the data table below.

Data Table
Average Plant Height (cm)
Day 1 Day 2 Day 3 Day 4 Day 5
Group A 5 7 10 13 15
Group B 5 6 6.5 7 7.5

Directions (46—48): Using the information in the data table, construct a line graph on
the grid on the next page, following the directions below.

46 Mark an appropriate scale on the axis labeled “Average Plant Height (cm).” [1]

47 Plot the data for the average height of the plants in group A. Surround each point with
a small circle and connect the points. [1]

Example: @—@/®

48 Plot the data for the average height of the plants in group B. Surround each point with
a small triangle and connect the points. [1]

Example: A_A/A

Living Environment-Aug. 06 [12,]
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. For Teacher
Plant Height Use Only

B

o)

= Key

2

T (+) Group A

‘_CU A Group B

o

o

(@)]

o

g 46

<
47

1 2 3 4 5
Days 48
49 State a valid conclusion that can be drawn concerning the effect of gibberellic acid on
bean plant growth. [1]

49
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Base your answers to questions 50 through 55 on the data table below and on your knowl-
edge of biology. The table contains information about glucose production in a species of
plant that lives in the water of a salt marsh.

Temperature (°C) Glucose Production (mg/hr)
10 5
20 10
30 15
40 5

50 Which terms describe temperature in this investigation?

(1) abiotic factor and independent variable

(2) abiotic factor and dependent variable

(3) biotic factor and independent variable

(4) biotic factor and dependent variable

51 What evidence from the data table shows that a salt-marsh plant is sensitive to its envi-

ronment? [1]

52 At which temperature would the plants most likely use the greatest amount of carbon

dioxide?

(1) 10°C
(2) 20°C
(3) 30°C

(4) 40°C

Living Environment-Aug. 06
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53 How much oxygen will plants that live in water at 10°C most likely produce? For Teacher
Use Only

(1) twice the amount of oxygen produced at 20°C
(2) the same amount of oxygen produced at 40°C

(3) the most oxygen produced at any temperature

(4) more oxygen than is produced at 30°C 53

54 State one possible reason for the change in glucose production when the temperature
was increased from 30°C to 40°C. [1]

54
55 Which level of the energy pyramid below would contain the plant species of this salt
marsh?
B
/ c \
/ P \

(1) A

(2) B

(3) C

(4) D 55

Living Environment-Aug. 06 [15] [OVER]



Part C
Answer all questions in this part. [17]

Directions (56-59): Record your answers in the spaces provided in this examination booklet.

56 A scientist wants to determine the best conditions for hatching brine shrimp eggs. In a For Teacher
laboratory, brine shrimp hatch at room temperature in glass containers of salt water. Use Only
The concentration of salt in the water is known to affect how many brine shrimp eggs

will hatch.

Design an experiment to determine which of three saltwater concentrations (2%, 4%, or
6%) is best for hatching brine shrimp eggs. In your experimental design, be sure to:

e state how many containers to use in the experiment, and describe what would be
added to each container in addition to the eggs [1]

e state two factors that must be kept constant in all the containers [1]

e state what data must be collected during this experiment [1]

* state one way to organize the data so that they will be easy to analyze [1]

* describe a result that would indicate the best salt solution for hatching brine shrimp

eggs [1]

56

Living Environment-Aug. 06 [16]



57 Not all diseases are caused by pathogenic organisms. Other factors, such as inheritance, For Teacher
poor nutrition, and toxic substances, may also cause disease. Use Only

Describe a disease or disorder that can occur as a result of one of these other factors.
Your answer must include at least:

the name of the disease [1]

one specific factor that causes this disease [1]

one major effect of this disease on the body, other than death [1]
one way this disease can be prevented, treated, or cured [1]

57
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58 Describe how two of the cell structures listed below interact to help maintain a bal- For Teacher
anced internal environment in a cell. Use Only

mitochondrion
ribosome

cell membrane
nucleus
vacuole

In your answer be sure to:

o select two of these structures, write their names, and state one function of each [2]
* describe how each structure you selected contributes to the functioning of the other [2]

58
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59 Currently, Americans rely heavily on the burning of fossil fuels as sources of energy. As For Teacher
a result of increased demand for energy sources, there is a continuing effort to find Use Only
alternatives to burning fossil fuels.

Discuss fossil fuels and alternative energy sources. In your answer be sure to:

e state one disadvantage of burning fossil fuels for energy [1]

* identify one energy source that is an alternative to using fossil fuels [1]
* state one advantage of using this alternative energy source [1]

e state one disadvantage of using this alternative energy source [1]

59
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Part D

Answer all questions in this part.  [13]

Directions (60-69): For those questions that are followed by four choices, circle the number of the choice
that best completes the statement or answers the question. For all other questions in this part, follow the direc-

tions given in the questions and record your answers in the spaces provided.

Base your answers to questions 60 and 61 on the information and diagram below and on
your knowledge of biology. The diagram illustrates an investigation carried out in a labora-
tory activity on diffusion. The beaker and the artificial cell also contain water.

Key
I I I = starch indicator
G = glucose
S = starch

S
VAN

Avrtificial cell Beaker

60 Predict what would happen over time by showing the location of molecules I, G, and
S in diagram B below. [3]

p—
p—

Time

S \_ /
7 N

Artificial cell A Beaker B

61 State what is observed when there is a positive test for starch using the starch
indicator. [1]
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Base your answers to questions 62 through 64 on the information and diagram below and

on your knowledge of biology.

The DNA of three different species of birds was analyzed to help
determine if there is an evolutionary relationship between these
species. The diagram shows the results of this analysis.

Species Species Species

B C
62 Identify the technique normally used to separate the DNA fragments to produce the
patterns shown in the diagram. [1]

63 The chart below contains amino acid sequences for part of a protein that is found in
the feathers on each of these three species of birds.

Species Amino Acid Sequence
A Arg-Leu-Glu-Gly-His-His-Pro-Lys-Arg
B Arg-Gly-Glu-Gly-His-His-Pro-Lys-Arg
C Arg-Leu-Glu-Gly-His-His-Pro-Lys-Arg

State one way this data supports the inference that these three bird species may be
closely related. [1]

64 State one type of additional information that could be used to determine if these three
species are closely related.  [1]

Living Environment-Aug. 06 [2 1]
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Base your answers to questions 65 through 67 on the information and graph below and For Teacher
on your knowledge of biology. Use Only

Pulse-rate data were collected from some students during their
lunch time for the lab activity, Making Connections. The data are rep-
resented in the histogram below.

Student Pulse-Rate Data

[EEY
o

Number of Students
R N W b~ O1 O N 00 ©

<51 51-60 61-70 71-80 81-90 >90
Average Pulse-Rate Range (beats/min)

65 The histogram includes data from a total of how many students?

(4) 27 65

66 Describe one way in which a pulse rate below 45 would disrupt homeostasis in an indi-
vidual whose average resting pulse rate falls in the range of 71-80. [1]

66

67 State one way the data would most likely be different if the pulse rates were collected
immediately after exercising instead of during lunch. [1]

67
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Base your answers to questions 68 and 69 on the finch diversity chart below, which con-
tains information concerning the finches found on the Galapagos Islands.

For Teacher
Finch Diversity

Use Only
Large ground
finch

Vegetarian
finch

Small
ground Large tree
finch finch
<,
%.
«
_g‘.
2]
Sharp-billed Sn}i?]l::gee
ground
finch

Woodpecker
finch
Warbler

finch

68 Identify one bird that would most likely compete for food with the large tree finch.
Support your answer. [1]

68

69 Identify one trait, other than beak characteristics, that would contribute to the survival of
a finch species and state one way this trait contributes to the success of this species. [2]

69
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3..... 18..... 4. .. 28 ... .. .. ..
2..... 19..... 4. .. 29... .. 4. ..
4. .. .. 20..... 3..... 30..... 3.....




LIVING ENVIRONMENT - continued

Follow the procedures below for scoring student answer papers for the Regents Examination in
Living Environment. Additional information about scoring is provided in the publication Information
Booklet for Scoring Regents Examinations in the Sciences.

Use only red ink or red pencil in rating Regents papers. Do not attempt to correct the student’s
work by making insertions or changes of any kind.

Allow 1 credit for each correct response for multiple-choice questions.

On the detachable answer sheet for Part A and Part B-1, indicate by means of a checkmark each
incorrect or omitted answer to multiple-choice questions. In the box provided in the upper right corner
of the answer sheet, record the number of questions the student answered correctly for each of these
parts.

At least two science teachers must participate in the scoring of the Part B-2, Part C, and Part D
open-ended questions on a student’s paper. Each of these teachers should be responsible for scoring a
selected number of the open-ended questions on each answer paper. No one teacher is to score all the
open-ended questions on a student’s answer paper.

Students’ responses must be scored strictly according to the Scoring Key and Rating Guide. For
open-ended questions, credit may be allowed for responses other than those given in the rating guide if
the response is a scientifically accurate answer to the question and demonstrates adequate knowledge
as indicated by the examples in the rating guide. In the student’s examination booklet, record the
number of credits earned for each answer in the box printed to the right of the answer lines or spaces
for that question.

Fractional credit is not allowed. Only whole-number credit may be given for a response. If the
student gives more than one answer to a question, only the first answer should be rated. Units need not
be given when the wording of the questions allows such omissions.

Raters should enter the scores earned for Part A, Part B—1, Part B-2, Part C, and Part D on the
appropriate lines in the box printed on the answer sheet and should add these 5 scores and enter the
total in the box labeled “Total Raw Score.” Then the student’s raw score should be converted to a
scaled score by using the conversion chart that will be posted on the Department’s web site
http://Awww.emsc.nysed.gov/osa/ on Wednesday, August 16, 2006. The student’s scaled score should be
entered in the box labeled “Final Score” on the student’s answer sheet. The scaled score is the
student’s final examination score.

All student answer papers that receive a scaled score of 60 through 64 must be scored a second
time. For the second scoring, a different committee of teachers may score the student’s paper or the
original committee may score the paper, except that no teacher may score the same open-ended
questions that he/she scored in the first rating of the paper. The school principal is responsible for
assuring that the student’s final examination score is based on a fair, accurate, and reliable scoring of
the student’s answer paper.

Because scaled scores corresponding to raw scores in the conversion chart may change from one
examination to another, it is crucial that for each administration, the conversion chart provided for that
administration be used to determine the student’s final score.
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LIVING ENVIRONMENT - continued
Part B-2

41 4

42 3

43 1

44 Allow 1 credit for stating which strain of rice was produced as a result of genetic engineering and
supporting the answer. Acceptable responses include, but are not limited to:

— Stress-Tolerant Rice: because it was made by inserting genes

— Trehalose-Producing rice: because it contains genes from bacteria

— Stress-Tolerant Rice: because bacterial genes for trehalose production were inserted into
rice plants

45 Allow 1 credit for stating one reason that further testing must be done before rice plants that
produce trehalose are approved for human consumption. Acceptable responses include, but are
not limited to:

— to see if it is safe
— to see if it has nutritional value



LIVING ENVIRONMENT - continued

>

46 Allow 1 credit for marking an appropriate scale on the axis labeled “Average Plant Height (cm)

47 Allow 1 credit for plotting the data for the average height of the plants in group A, surrounding
each point with a small circle, and connecting the points.

48  Allow 1 credit for plotting the data for the average height of the plants in group B, surrounding
each point with a small triangle, and connecting the points.

Example of a 3-credit graph for questions 46-48:

Plant Height
16
Jan
@
14
|
3 Z
= 12 V Key
o) /|
£ 10 - (+) Group A
‘_% 8 / AGroupB
o
2 7 s
Z as
4
2

1 2 3 4 5
Days

Note: Do not allow credit for plotting points that are not in the data table, e.g., (0,0).
Do not deduct more than 1 credit for plotting points that are not in the data table.

49 Allow 1 credit for stating one valid conclusion that can be drawn concerning the effect of
gibberellic acid on bean plant growth. Acceptable responses include, but are not limited to:

— Bean plants given gibberellic acid grew taller or faster than those that were not.
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55

LIVING ENVIRONMENT - continued

Allow 1 credit for providing evidence from the data table showing that a salt marsh plant is
sensitive to its environment. Acceptable responses include, but are not limited to:

— The amount of glucose produced varies as the environmental temperature changes.

Allow 1 credit for stating one possible reason for the change in glucose production when the
temperature was increased from 30°C to 40°C. Acceptable responses include, but are not limited
to:

— The enzymes responsible for the process are less effective above 30°C.
— Chemical reactions are affected by temperature.
— The enzymes are altered (or destroyed) by heat.



LIVING ENVIRONMENT - continued

Part C

56 Allow a maximum of 5 credits for designing an experiment to determine which of three saltwater
concentrations (2%, 4%, or 6%) is best for hatching brine shrimp eggs, allocated as follows:

e Allow 1 credit for stating how many containers to use in the experiment, and describing what
would be added to each container in addition to the eggs. Acceptable responses include, but are
not limited to

— Three containers, each with a different salt concentration (2%, 4%, and 6%), should be
used.
— four containers, one with water, the other three with different salt concentrations (2%,

4%, and 6%)
— four containers, a control and the others with 2%, 4%, and 6% salt solution

e Allow 1 credit for stating two factors that must be kept constant in all the containers. Acceptable
responses include, but are not limited to:

— temperature of the water

— number of eggs per container
— salt-water level or volume

— size of container

— amount of time

e Allow 1 credit for stating what data must be collected during this experiment. Acceptable
responses include, but are not limited to:

— how many eggs hatch in each salt concentration

e Allow 1 credit for stating one way to organize the data so that they will be easy to analyze.
Acceptable responses include, but are not limited to:

— arrange the data in a data table or a spreadsheet

— graph the data

e Allow 1 credit for describing a result that would indicate the best salt solution for hatching brine
shrimp eggs. Acceptable responses include, but are not limited to:

— The solution that has the most eggs hatch is the best one to use.
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LIVING ENVIRONMENT - continued

57 Allow a maximum of 4 credits for describing a disease or disorder that can occur as a result of a

58

factor other than a pathogenic organism, allocated as follows:

e Allow 1 credit for the name of the disease or disorder.

e Allow 1 credit for one specific factor that causes this disease or disorder.

e Allow 1 credit for one major effect of this disease or disorder on the body, other than death.
e Allow 1 credit for one way this disease or disorder can be prevented, treated, or cured.

Examples of 4-credit responses:

PKU is a disorder that can result in damage to the brain. It is caused by
inheritance of a mutation. Children with PKU will be developmentally delayed.

If a specific amino acid is removed from the child’s diet, the symptoms will not
occur.

or

Diabetes is a disease that can result from an inability to produce enough
insulin. The level of glucose in the blood and urine will be high. This may lead to
blindness or kidney problems. Frequent urination and thirst are major
symptoms. Insulin injections can be used to regulate blood sugar levels.

Note: If a disease caused by a pathogenic organism is chosen, a maximum of 3 credits may be
allowed if the other three bullets are addressed correctly for the disease chosen.

Allow a maximum of 4 credits for describing how two cell structures interact to help maintain a
balanced internal environment in a cell, allocated as follows:

e Allow a maximum of 2 credits, 1 credit for each correct function of the two structures selected.
Acceptable responses include, but are not limited to:

— mitochondrion—release of energy from nutrients
— ribosome—protein synthesis
— cell membrane—regulates movement of materials into and out of the cell

— nucleus—regulates cell functions or carries the genetic code
— vacuole—storage

e Allow a maximum of 2 credits, 1 credit for describing how each of the two structures selected
contributes to the functioning of the other. Acceptable responses include, but are not limited to:

— The nucleus contains the code for the enzymes that function in the mitochondrion. The
mitochondrion provides energy that is needed by the nucleus.



LIVING ENVIRONMENT - continued

59 Allow a maximum of 4 credits for discussing fossil fuels and alternative energy sources, allocated as
follows:

e Allow 1 credit for stating one disadvantage of burning fossil fuels for energy. Acceptable
responses include, but are not limited to:

— They pollute the atmosphere.

— They lead to acid rain.

— They lead to global warming.

— Fossil fuels are a limited resource.

e Allow 1 credit for identifying one energy source that is an alternative to using fossil fuels.
Acceptable responses include, but are not limited to:

— solar energy
— windmills

— water power
— nuclear fuels

e Allow 1 credit for stating one advantage of using the alternative energy source identified.
Acceptable responses include, but are not limited to:

— does not pollute the environment (solar energy)
— is renewable (water power)
— Fossil fuels are not burned. (nuclear)

e Allow 1 credit for stating one disadvantage of using the alternative energy source identified.
Acceptable responses include, but are not limited to:

— Windmills are very noisy.

— Dams built for water power destroy habitats.
— Nuclear fuels produce dangerous wastes.

— high cost of changing technology

— Sufficient solar, wind, or water is not available worldwide.
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LIVING ENVIRONMENT - continued

Part D

60 Allow a maximum of 3 credits, allocated as follows:

e Allow 1 credit for showing Is both inside and outside of the artificial cell.

e Allow 1 credit for showing Gs both inside and outside of the artificial cell.
e Allow 1 credit for showing all the Ss inside of the artificial cell.

Example of a 3-credit response:

N c J

61 Allow 1 credit for stating what is observed when there is a positive test for starch using the starch
indicator. Acceptable responses include, but are not limited to:

— a color change

— The color changes from amber to blue black.

62 Allow 1 credit for identifying the technique normally used to separate the DNA fragments to
produce the patterns shown in the diagram. Acceptable responses include but are not limited to:

— electrophoresis
— gel electrophoresis

63 Allow 1 credit for stating one way the data supports the inference that the three bird species may
be closely related. Acceptable responses include, but are not limited to:

— Since they have similar amino acid sequences, they may be closely related.

— Since they have amino acid sequences that are very much alike, the species have similar
DNA.



64

65

66

67

68

69

LIVING ENVIRONMENT - concluded

Allow 1 credit for stating one type of additional information that could be used to determine if
these three species are closely related. Acceptable responses include but are not limited to:

— comparing embryos

— cytology

— comparing fossils

— comparing bone structures
— additional sequence studies

Allow 1 credit for describing one way in which a pulse rate below 45 would disrupt homeostasis in
an individual whose average resting pulse rate falls in the range of 71-80. Acceptable responses
include, but are not limited to:

— Circulation of blood would be reduced.
— Oxygen (0O,) delivery would be reduced.
— Cells could not release enough energy.
— unable to regulate body temperature

Allow 1 credit for stating one way the data would most likely be different if the pulse rates were
collected immediately after exercising instead of during lunch. Acceptable responses include, but
are not limited to:

— The average pulse rates would be higher.

— Increased activity causes an increase in pulse rate.
Allow 1 credit for identifying one bird that would most likely compete for food with the large tree
finch and supporting the answer. Acceptable responses include, but are not limited to:

— Woodpecker finch: they use the same food resources

— Small tree finch: both eat mainly animal food

Allow a maximum of 2 credits, 1 credit for identifying one trait, other than beak characteristics,
that would contribute to the survival of a finch species and 1 credit for stating one way this trait
contributes to the success of this species.

Examples of 2-credit responses:
— Faster or more aggressive birds get to seeds faster.

— Larger or stronger birds compete successfully.
— Coordination helps an individual avoid predators.
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The Chart for Determining the Final Examination Score for the August 2006 Regents
Examination in Living Environment will be posted on the Department’s web site
http://www.emsc.nysed.gov/osa/ on Wednesday, August 16, 2006. Conversion charts
provided for previous administrations of the Regents Examination in Living
Environment must NOT be used to determine students’ final scores for this
administration.

Submitting Teacher Evaluations of the Test to the Department
Suggestions and feedback from teachers provide an important contribution to the test
development process. The Department provides an online evaluation form for State assessments.

It contains spaces for teachers to respond to several specific questions and to make suggestions.
Instructions for completing the evaluation form are as follows:

1. Go to www.emsc.nysed.gov/osa/exameval/.

2. Select the test title.

3. Complete the required demographic fields.

4. Complete each evaluation question and provide comments in the space provided.

5. Click the SUBMIT button at the bottom of the page to submit the completed form.
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Regents Examination in Living Environment
August 2006

Chart for Converting Total Test Raw Scores to
Final Examination Scores (Scaled Scores)

Raw Scaled Raw Scaled Raw Scaled
Score Score Score Score Score Score
85 100 56 77 27 52
84 98 55 76 26 50
83 97 54 75 25 49
82 96 53 75 24 48
81 95 52 74 23 47
80 95 51 73 22 46
79 94 50 72 21 44
78 93 49 72 20 43
77 92 48 71 19 41
76 91 47 70 18 40
75 90 46 69 17 38
74 90 45 69 16 37
73 89 44 68 15 35
72 88 43 67 14 33
71 87 42 66 13 31
70 87 41 65 12 29
69 86 40 64 11 27
68 85 39 63 10 25
67 84 38 63 9 23
66 84 37 62 8 21
65 83 36 61 7 19
64 82 35 60 6 16
63 81 34 59 5 14
62 81 33 58 4 11
61 80 32 57 3 9
60 79 31 56 2 6
59 79 30 55 1 3
58 78 29 54 0 0

57 77 28 53

To determine the student’s final examination score, find the student’s total test raw score in the
column labeled “Raw Score” and then locate the scaled score that corresponds to that raw score. The
scaled score is the student’s final examination score. Enter this score in the space labeled “Final
Score” on the student’s answer sheet.

All student answer papers that receive a scaled score of 60 through 64 must be scored a
second time. For the second scoring, a different committee of teachers may score the student's
paper or the original committee may score the paper, except that no teacher may score the same
open-ended questions that he/she scored in the first rating of the paper. The school principal is
responsible for assuring that the student’s final examination score is based on a fair, accurate and
reliable scoring of the student’s answer paper.

Because scaled scores corresponding to raw scores in the conversion chart change from one
examination to another, it is crucial that for each administration, the conversion chart provided for that
administration be used to determine the student’s final score. The chart above is usable only for this
administration of the Living Environment Examination.



	livenv.pdf
	Chart for Converting Total Test Raw Scores to  



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles false
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Off
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize false
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo false
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile (None)
  /AlwaysEmbed [ true
    /AGaramond-Bold
    /AGaramond-BoldItalic
    /AGaramond-Italic
    /AGaramond-Regular
    /EuroMono-Bold
    /EuroMono-BoldItalic
    /EuroMono-Italic
    /EuroMono-Regular
    /EuroSans-Bold
    /EuroSans-BoldItalic
    /EuroSans-Italic
    /EuroSans-Regular
    /EuroSerif-Bold
    /EuroSerif-BoldItalic
    /EuroSerif-Italic
    /EuroSerif-Regular
    /Garamond-BoldCondensed
    /Garamond-BoldCondensedItalic
    /Garamond-BoldItalic
    /Garamond-BoldNarrow
    /Garamond-BoldNarrowItal
    /Garamond-Book
    /Garamond-BookCondensed
    /Garamond-BookCondensedItalic
    /Garamond-BookItalic
    /Garamond-Light
    /Garamond-LightCondensed
    /Garamond-LightItalic
    /Garamond-LightNarrow
    /Garamond-LightNarrowItal
    /Garamond-Ultra
    /Garamond-UltraItalic
    /GaramondLatin
    /GaramondLatin-Bold
    /GaramondLatin-BoldItalic
    /GaramondLatin-Italic
    /GoudyOldStyleT-Bold
    /GoudyOldStyleT-Italic
    /GoudyOldStyleT-Regular
    /Helvetica
    /Helvetica-Bold
    /Helvetica-BoldOblique
    /Helvetica-Light
    /Helvetica-Narrow
    /Helvetica-Narrow-Bold
    /Helvetica-Narrow-BoldOblique
    /Helvetica-Narrow-Oblique
    /Helvetica-Oblique
    /HelveticaLTMM
    /MathematicalPi-Five
    /MathematicalPi-Four
    /MathematicalPi-One
    /MathematicalPi-Six
    /MathematicalPi-Three
    /MathematicalPi-Two
    /NewCaledonia
    /NewCaledonia-Black
    /NewCaledonia-BlackItalic
    /NewCaledonia-Bold
    /NewCaledonia-BoldItalic
    /NewCaledonia-Italic
    /NewCaledonia-SemiBold
    /NewCaledonia-SemiBoldItalic
    /NewCenturySchlbk-Bold
    /NewCenturySchlbk-BoldItalic
    /NewCenturySchlbk-Italic
    /NewCenturySchlbk-Roman
    /Optima-BoldItalic
    /Optima-ExtraBlack
    /Optima-Italic
    /Optima-Regular
    /Palatino-Bold
    /Palatino-BoldItalic
    /Palatino-Italic
    /Palatino-Roman
    /Symbol
    /Times-Bold
    /Times-BoldItalic
    /Times-Italic
    /Times-Roman
    /TimesLTMM
    /TimesNewRomanPS-BoldItalicMT
    /TimesNewRomanPS-BoldMT
    /TimesNewRomanPS-ItalicMT
    /TimesNewRomanPSMT
    /ZapfDingbats
    /ZapfDingbatsITC
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages false
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages false
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects true
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile (None)
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /Description <<
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e9ad88d2891cf76845370524d53705237300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc9ad854c18cea76845370524d5370523786557406300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /DAN <>
    /DEU <>
    /ESP <>
    /FRA <>
    /ITA <>
    /JPN <FEFF9ad854c18cea306a30d730ea30d730ec30b951fa529b7528002000410064006f0062006500200050004400460020658766f8306e4f5c6210306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103055308c305f0020005000440046002030d530a130a430eb306f3001004100630072006f0062006100740020304a30883073002000410064006f00620065002000520065006100640065007200200035002e003000204ee5964d3067958b304f30533068304c3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020ace0d488c9c80020c2dcd5d80020c778c1c4c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor prepress-afdrukken van hoge kwaliteit. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /PTB <>
    /SUO <>
    /SVE <>
    /ENU (Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /ConvertToCMYK
      /DestinationProfileName ()
      /DestinationProfileSelector /DocumentCMYK
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /DocumentCMYK
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [600 600]
  /PageSize [612.000 792.000]
>> setpagedevice




